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(b) Find f'(e) if f(x):%_
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(¢) Find f/(1) if f(:c)=/x4ﬁdt.

(d) Find j—i at (1,2) if dzy® — 2%y +2° — 52 — 26 = 0.
Vi

(e) / or dx

(f) /Qx(lnm)z dz
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(h) Find // ze’dA, where R is bounded by y=z/2, y=1and z = 0.
R

The demand for motorcycle tires imported by Dixie Import-Export is 40000/year and
may be assumed to be uniform throughout the year. The cost of ordering a shipment of
tires is $400, and the cost of storing each tire for a year is $2. Determine how many tires

should be in each shipment if the ordering and storage costs are to be minimized. (12 %)

Tracy purchased a 10-year franchise for a computer outlet store that is expected to gen-
erate income at the rate of f(¢) = 50000+ 2000t dollars/year. Find the present value

of the franchise if the prevailing interest rate is 5%/year compounded continuously. (12

%)

1
M. (a) Find the Maclaurin series for e~2%". (b) Approximate / e"3% dz to four decimal
0
places. (12 %)
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